-

GADSDEN INDEPENDENT SCHOOL DISTRICT JULY 1, 2009 -thru - June 30, 2010

ITEM#	MEXICAN FOODS	QUANTITY	PRODUCT CODE #	VENDOR	PACK PRICE	TOTAL AMOUNT
5	GREEN CHILE, CHOPPED, MILD: PREMIUM, NEW MEXICO MILD GREEN, HARVESTED, THEN FLAME ROASTED, PEELED AND DICED 3/8" SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	400	. 10	Dee's	19.92	7,968.00
	TOTAL FOR DEE'S			3 7		7,968.00

GADSDEN INDEPENDENT SCHOOL DISTRICT JULY 1, 2009 -thru - June 30, 2010

ITEM#	MEXICAN FOODS	QUANTITY	PRODUCT CODE #	VENDOR	PACK PRICE	TOTAL AMOUNT
6	RED CHILE PUREE: WATER, SELECT, ROASTED NEW MEXICO CHILE PODS THAT HAVE BEEN STONE GROUND AND THEN PUREED. TO BE USED FOR RED CHILE SAUCES. CONTAINS NO ADDITIVES, PRESERVATIVES, MSG OR SALT. MILD, FROZEN 6 - 56 OZ. BUENO 0944-2 SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	800		MA & Sons	2.73	2,184.00
	TOTAL FOR MA & SON'S	5				2,184.00

GADSDEN INDEPENDENT SCHOOL DISTRICT JULY 1, 2009 -thru - June 30, 2010

TEM#	MEXICAN FOODS	QUANTITY	PRODUCT CODE #	VENDOR	PACK PRICE	TOTAL AMOUN
	CORN TORTILLA PIÈCES: SAME SPECIFICATIONS ÀS ABOVE. WE WILL ACCEPT ONLY FIRST CLASS TORTILLAS, MUST BE DELIVERED FRESH? TORTILLA PIÈCES MUST BE ROUND. EACH TORTILLA PIÈCE TO EQUAL 1/6 CORN TORTILLAS. UNSALTED OR		s (#1)		75	
	VERY LIGHTLY SALTED. BAKED (PREFERRED) OR DEEP FRIED IN VEGETABLE SHORTENING (LARD IS NOT ACCEPTABLE). COPY OF LABEL SHOWING INGREDIENTS AND THE NEW FOOD LABEL MUST BE SUPPLIED WITH THE BID AND ALSO ON EACH OF THE PACKAGES DELIVERED. (1 doz. Per unit) SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	10,000	WHOLE GRAIN OR ENRICHED	Mission Foods	2.7	27,000.00
	CORN TORTILLA: SIX INCH DIAMETER TORTILLA, EACH WEIGHING 25 GRAMS WITH NO MORE THAN 50% MOISTURE. ONLY FIRST CLASS CORN TORTILLAS MADE OF ENRICHED FLOUR OR WHOLE GRAIN FLOUR OR MEAL WITH BE ACCEPTED. THE TORTILLAS MUST BE FRESH, NO OLDER THAN ONE DAY AND NOT DRY AROUND THE EDGES. They WILL NOT accept FROZEN. USE OF PRESERVATIVES NOT ACCEPTED. COPY OF LABEL SHOWING INGREDIENTS AND THE NEW FOOD LABEL MUST BE SUPPLIED WITH THE BID AND ALSO ON EACH OF THE PACKAGES DELIVERED. (3 doz per unit) SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	23,000	WHOLE GRAIN OR ENRICHED	Mission Foods	0.63	14,490.00
4	FLOUR TORTILLA: SIX INCH DIAMETER TORTILLAS (6" - 7", 1 oz. J 25 grams). WEIGHT MUST BE MINIMUM OF ONE OUNCES WITH NO MORE THAN 50% MOISTURE. We WILL ACCEPT ONLY FIRST CLASS TORTILLAS. TORTILLAS MUST BE FRESH. FROZEN NOT ACCEPTED. NO OLDER THAN ONE DAY OLD, NOT DRIED AROUND THE EDGES. TORTILLAS MUST BE MADE FROM VEGETABLE SHORTENING (LARD IS NOT ACCEPTABLE). FLOUR MUST BE ENRICHED TO MEET MINIMUM USDA STANDARDS. TORTILLAS TO BE PACKED TO PREVENT STICKING TO EACH OTHER. COPY OF LABEL SHOWING INGREDIENTS AND THE NEW FOOD LABEL MUST BE SUPPLIED WITH THE BID ALSO ON EACH OF THE PACKAGES DELIVERED. SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	40,000	WHOLE GRAIN OR ENRICHED	Mission Foods	0.9	36,000.00
3	FLOUR TORTILLA: TEN INCH DIAMETER TORTILLAS.(9"-10", 2 oz. / 50 grams) WEIGHT MUST BE MINIMUM OF TWO OUNCES WITH NO MORE THAN 50% MOISTURE. WE WILL ACCEPT ONLY FIRST CLASS TORTILLAS. TORTILLAS MUST BE FRESH. FROZEN NOT ACCEPTED. NO OLDER THAN ONE DAY OLD, NOT DRIED AROUND THE EDGES. TORTILLAS MUST BE MADE FROM VEGETABLE SHORTENING (LARD IS NOT ACCEPTABLE). FLOUR MUST BE ENRICHED TO MEET MINIMUM USDA STANDARDS. COPY OF LABEL SHOWING INGREDIENTS AND THE NEW FOOD LABEL MUST BE SUPPLIED WITH THE BID ALSO ON EACH OF THE PACKAGES DELIVERED. (1 doz. Per unit) SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	24,000	WHOLE GRAIN OR ENRICHED	Mission Foods	1.25	30,000.00
	TOTAL FOR MISSION FOO	DS				107,490.00

GADSDEN INDEPENDENT SCHOOL DISTRICT JULY 1, 2009 -thru - June 30, 2010

ITEM#	MEXICAN FOODS	QUANTITY	PRODUCT CODE #	VENDOR	PACK PRICE	TOTAL AMOUNT
1	TACO SHELLS: SIX INCH DIAMETER TORTILLAS EACH WEIGHING 25 GRAMS. ONLY FIRST CLASS TORTILLAS MADE OF ENRICHED FLOUR OR WHOLE GRAIN FLOUR OR MEAL WILL BE ACCEPTED. THE TACO SHELLS MUST BE FRESH, NO OLDER THAN		. 130		. 40	
7	ONE DAY OLD. FROZEN WILL NOT BE ACCEPTED. TACO SHELLS MUST BE PACKED IN A MANNER TO PREVENT CRUSHING OR BREAKING. BREAKAGE MAY NOT EXCEED ONE PER HUNDRED SHELLS. COPY OF LABEL SHOWING INGREDIENTS AND THE NEW FOOD LABEL MUST BE SUPPLIED WITH THE BID. SAMPLES MUST BE SUBMITTED BEFORE AWARDED.	24,000	WHOLE GRAIN OR ENRICHED	Shamrock	10.61	254,640.00
	TOTAL FOR SHAMROCK	(254,640.00

GISD BID #08-09-30 MEXICAN FOODS

Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing

Purchasing Agent: Student Nutrition Program	Box No.:	Phone Number: 882-6771
Bid Number: 08-09-30 Advertising Date: April 24, 2009	Opening Date: May 21, 2009	Time: 2:00 pm
Description: Mexican Foods		Results Sent:
Purchasing Agent: // / / / / / / / / / / / / / / / / /	Witness:	ta They

		1.0	1.1			1			
	SESSES OF	Mission F	oods	Dee's FD	Service	MA &	Son's	EL Indio	
Item Description	Qty	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
I CORN TORTILLA 3/DOZ PER UNIT	23000	\$ 0.63	\$ 14,490.00	N/B	#VALUE!	N/B	#VALUE!	1.05	24,150.00
2 CORN TORTILLA PIECES (3 LB)	10000	\$ 2.70	\$ 27,000.00	N/B	#VALUE!	N/B	#VALUE!		0.00
3 FLOUR TORTILLA (1 DOZEN)	24000	\$ 1.25	\$ 30,000.00	N/B	#VALUE!	N/B	#VALUE!		0.00
4 FLOUR TORTILLA (DOZEN)	40000	\$ 0.90	\$ 36,000.00	N/B	#VALUE!	N/B	#VALUE!		0.00
5 GREEN CHILE, CHOPPED MILD (CS)	400	N/B	#VALUE!	\$ 19.92	7,968.00				0.00
6 RED CHILE PUREE (CS)	800	N/B	#VALUE!	\$ 9.11	7,288.00	2.73	\$ 2,184.00		0.00
7 TACO SHELLS (20 DOZ)	24000	\$ 14.00	\$ 336,000.00		0.00		\$ -		0.00
H									
	20, 1	1				1.			
		· · · · · · · · · · · · · · · · · · ·				1.	37	22	2 1 2
			Latin Page	va Peng		<u> </u>	11. 11.		1 1
				1.	. '11				
									MATERIAL PROPERTY OF THE PROPE
TOTALPRICE		动体。位为2003		1300年8月4年		Grand Company			
TERMS		ble moreth	The second second						
DELIVERY								Keel All Marie	
FOB		ARTERIO DE	the said that I was					Single State of	
IN-STATE PREFERENCE NUMBER		West with the second							

GISD BID #08-09-30 MEXICAN FOODS

Note: (1) Control Agent initial here: if low bid is acceptable. (2) Attach memo stating why low bid is not acceptable (3) Return your recommendation to Purchasing

Purchasing Agent: Stude	nt Nutrition Program	Box No.:	Phone Number: 882-6771
Bid Number: 08-09-30	Advertising Date: April 24, 2009	Opening Date: May 21, 2009	Time: 2:00 pm
Description: Mexican Foo	ods		Results Sent:
Purchasing Agent:		Witness: Committee	Mul-

			Las Cruce	S FDS	Shar	nrock	For	ods		enchi in a china	4年4月	
Item	Description	Qty	Unit Price	Total	Unit	Price	To	tal	Unit Price	Total	Unit Price	Total
1	CORN TORTILLA 3/DOZ PER UNIT	23000	N/B	#VALUE!	\$	1.27	\$	29,302.00		0.00		0.00
2	CORN TORTILLA PIECES (3 LB)	10000	\$ 4.80	\$ 48,000.00	\$	2.85	\$	28,480.00		0.00	4,000	0.00
3	FLOUR TORTILLA (1 DOZEN)	24000	N/B	#VALUE!	\$	1.52	\$	36,576.00		0.00		0.00
4	FLOUR TORTILLA (DOZEN)	40000	N/B	#VALUE!	\$	1.04	\$	41,680.00		0.00		0.00
5	GREEN CHILE, CHOPPED MILD (CS)	400	N/B	#VALUE!	\$	20.37	\$	8,148.00		0.00	1 1 1 11	0.00
6	RED CHILE PUREE (CS)	800	N/B	#VALUE!	\$	18.81	\$	15,048.00	14	0.00	100	0.00
. 7	TACO SHELLS (20 DOZ)	24000	\$ 21.00	\$ 504,000.00	\$ /	10.61		254,592.00		0.00		0.00
					- 0				3. 3.			
		1						1, 1,				
		1	14 1			1	1			rai "	11	* 1
								ry to the				
					1	10	1	1 20 11				
11(0)1/2	LPRICE				A PARTY	September 1			Peter Halle Self Se	A LEWIS CONTRACTOR		自由的主义
TERN	Applied Spiritual Programme Control of the Control	34 (44)			Library							
The state of the s	VERY	on subspanie										KANE MELETINE
FOB		(100 Miles										
All marks of the same of the same	ATE PREFERENCE NUMBER											